MA1032
- - Exam III Review
Fall 2003

1. Complete the following table using f (x)=x"+x, g(x)= f(x~1), and h(x)= f(x)-1.
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c¢) Explain how the graphs of g and A are related to the graph of f.
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2. Determine algebraically whether each of the following functions is even, odd, or neither.
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3. Using the figure below, graph and label 3 sets of coordinates for:
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4. Let g(x):—lz—.
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a) Give the formula for a function that transforms the graph of g as follows:

Shifts three units to the right, reflects about the x-axis, then shifts up two units.
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b) Give the domain of the new function.
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i Estimate the period of the following periodic functions.
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{ The proposed London ferris wheel will be 500 feet in diameter and will make one
revolution every 20 minutes. Let y=h(t) be the height above ground in terms of ¢

minutes of riding.
a) What is the period, the amplitude, and the midline for A()?
gviod = 20 miLn
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b) Describe in a sentence or two what the following expressions would mean in terms
of the London ferris wheel (for example, bigger wheel or faster wheel, etc.).
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Y Find the midline and amplitude of the periodic function below.
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% A right triangle has an acute angle 4 with a measurement of 51
triangle is 47 cm. Find the lengths of the other 2 sides.
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9 A right triangle has sides as shown in the diagram. Give the values of the 6 trigonometric
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functions for the angle 6.
Q..:_.S_: :,__...:—gg(_(o_}
(< L ¢SO .9
1.5
9 cos® = L2.¢ <ic@ =S =125
: (. < >
0 tan © = O.4 -3¢ Cot & =Lz .3
1.2 N T O. %
i Find the coordinates of points 4 and B.
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11 Draw the point on the unit circle corresponding to the given angles and state the coordinates
of each.

A: §=450° 4=(_0 , )

B: @=-270° B=(_o , \ )

yx The coordinates of a point on a non-unit circle are (—5.2623,‘I-‘Rl§3). The point is

associated with an angle 8 =200°. What is the radius of the circle?
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13 Non-calculator: Fill in the blanks in the table given below.
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'Y Calculator: a) Change to radians: 137° (%53 = 2.3940 vadiang

b) Change to degrees: 2.5 ( 52 ) = |43, 24"

\S  Calculator: A circle with radius 3.12 contains an arc of length 8.6. Find the angle@ which
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b Non calculator: Sketch the graphs of the following functions. Give amplitude, period,
midline equation, horizontal shift, and vertical asymptotes where possible. Clearly label x-
and y- axes to show these features. :
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1 Non calculator: Find a formula for the following graph.
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\¢ Calculator: Use a sinusoidal function to model the following situation.

The depth of the water at the end of an ocean pier oscillates. It has a low of 20
feet at 1 a.m. and a high of 35 feet at 7 am. At 1 p.m., there’s another low of 20

feet; then the cycle repeats.

a) Find a formula for the depth of the water at time, ¢, measured in hours since midnight.
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b) What is the height of the water at 3 o’clock?
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\% Non-calculator: € is an angle in QIII. cosf =- % Find the values of the other 5

trigonometric functions of 8.
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20 Non calculator: Evaluate
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Non calculator: Find solutions for the equations such that 0 <¢ <27 .
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13 The boundaries of the Bermuda Triangle are not universally agreed upon, but one version
places one corner of the triangle on the southern US coast (Point A in the figure), another
corner in the Bermuda Islands (point B), and the third corner in the Greater Xntilllas (point
(). Assume that the distance between A and B is 1000 km, and the angle at point A is 55°
Traveling at 25/ kmv/hr, a cruise ship takes 26 hours to cross from point A to point C. If the:
SBTP survives this portion of the trip, what is the distance it must travel from point C to point
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MA1032
Formulas

Law of Sines:

sinA _sinB _sinC
a b c

Law of Cosines:
c?=a*+ b*-2abcosC
b>=a*+ c*-2accosB

a’*=b*+ c*— 2bccos A




